— b —

BE—BHB=

NBBEXTD ERINTARE

(B) ©»H444H18

(£) ®M5%3H31H

B B+t

HEEILEANRS

FIMIEE%)

(B : )

ENERE

AL

&t

AIBBERGIH =

BEEHAS

R

TTEERIRBZENA
FEABUERRA
IRERUSEERA

RESERA

I STHRBEIRA

IEEEUY —EXFBRNA
ETRRESERA

3= DN
BAEFSHBEIRA
EEEEHBZIA
EEEEFMEIA
RHFIBEHEIRA
HEEIEEHEE R B EREFIEIRA
ZOABDYIA

TENEE AR (C LB EEIENER

25,032,183

96, 000

25,032,183

96, 00!

[eNelelolsloNololoRo oo N

0

25,032,183

96, 00!

OO OO OO ODOOOOOO

0

FEEBIRAST (1)

25,128,183

25,128,183

25,128,183

EE Xt

MBI

BERETH

BHESH

I STHREHEN

RESEH

FREEIDERNE

SHLFIEs

HAEILEEHEERBEA ST
ZOfBOSTH

T EE MRS (CL 2B R R

23, 638, 246
572, 235
3,471,139

23, 638, 246
572,235
3,471,139
0

[=NeNoNoNe o]

23, 638, 246
572,235
3,471,139
0

[=NeNoNoNe N

FEEHHET (2)

217, 681, 620

21, 681, 620

21, 681, 620

FREBESINER (3) = (1) - (2)

-2, 553, 437

-2, 553, 437

-2, 553, 437

y

3

MEsR B RS HBERA

MR EEARE M EURA
FIFEREAZIRA
HAEIDEEHERBRMEREATINA
BIEEEFEAILIRA
TOABOBERE R (CLDURA

MEsREEAREINAGT (4)

EE Xt

HREEBARTREESH
HAEILEEHEERBERAEESEAS TEEES T
EEEERYSH

BIE &R - FEEsT

TrAF VR - ZEFHEORFEZ
TOMOEREEECL 3T

750, 468

[=Neele] (o] (olleloNoNoNo)

750, 468

[=NeNe o] (o] (oleNoNeNoNo)

750, 468

MEsxEEfmeE 2 itEt (5)

750, 468

750, 468

750, 468

MEER RSB RUNTEER (6) = (4) — (5)

-150, 468

—150, 468

—750, 468

4
A

>

REEERBEAETEREETHEINA
REEEESMEAZIRA
HEERMBEAZIRA
HAEILEEHEERBRAEEESMHEAZIRA
RAEMAEEURIA
HAEIbEEHEER B RASMEEIRINA
HERMEESSTEEURA

TR EREERARIA
BEXDERMEAZINA
HREDEREAZIRA
BEXDERMEMNEEURIA

HRX DR EOIRIRA
BEXDREEAEIRA
HREDEIRAZIRA
TOMDTEENCLBURA

3,900, 000

7,500

OO O OO OOCDOOCOOO

3, 900, 000
0
71,500

OO O OO ODOCDOOCOOO

3,900, 000
0
7,500

ZOAOESURAGT (7)

3,907, 500

3,907, 500

3,907, 500

EE Xt

REEEREAETEEESN
REERPEBASTEERESL
HAEEIbEEHERBRPEEESBA S TEEESN
REEMNEH

HEEIbEEHERBERAENESH
HERMAEZEEZH

BIrEREH

BEXOBRAEMESL

HRXDERASMESZH

1/2

[N NN N N No Ne]

[eNoNoNo N No No No Ne



HEEILEANRS

BERXDERBEADREMH 0 0
HSXDERMEARIEFE T 0 0
BEXDBHEAEZH 0 0

R DREIRARSZH 0 0
ZOABODES B3 0 0
ZOMOESNZHET (8) 0 0 0 0
TOMBOESNEEIRNIELR (9) = (7) - (8) 3,907, 500 3,907, 500 0 3,907, 500
HHERINERGST (10) = (3) + (6) + (9) 603, 595 603, 595 0 603, 595
BIARSTINERAS (11) 3, 355, 931 3, 355, 931 3, 355, 931
SERINEERAS (10) + (11) 3, 959, 526 3, 959, 526 0 3, 959, 526

2/2



